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1. What is the value of log, log, §7 77 equal 4. A sgoare matrix A is ealled orthogonal if
to?

a) A=Aa?
(a)  Blog, 7 B A=A
ﬂ'.l}' ]—ElugET (R ] ﬂ:A.—l
(d) A=A
) 1—9log. 2 ,
where A ig the transpose of A,
T
dyr —=
B

5. If A, B and € are subsets of a Universal set,
then which one of the following is mot correct !

%  Ian infinite GP has the fivst term x and the {a) AUMBACI=(AUBINALUGC

sum 5, then which one of the following is

correct 7 iy AUAUR=BMNA UA
la) x<-10 (el AUBUC=CNB NA
b} —-1<x=<0 idi ANBIlUE=AUCINIBUC)
ey N<x<10 whire A iz the complement of A
dl x>10
8. Let x be the number of integers lying between
4.  Consider the following expressions - 2009 and #001 which have ol least two digits
equil, Then x is equal to
L X+ E - 2
X fa) 2480
iby 2481
@ Ja:1+b:;+x—c1£]-—%
il () 2482
3. gx — Bx + ab id) 2483
R Ty - £ T
gz_ux.;_hs T The sum of mr‘lﬂ-ﬁ-ﬂ—l-l'i——g'--i-u. 15
. 1 ] equal to
- = x+58 éal 20
.E Iq
Which of the above are rational expressions 7 ” 9
ial 1,4 and 5 only 20
{b) 1,8 4and5 only gl %
(¢} 2 4and5only
@
idy  1and2only ]

YPL-5-BLU [(3—-A)




Consider the information given below and
answer the tuo (02) ilems that follow :

A survey was conducted among 300 students.
It was found that 125 students like to play
ericket. 1456 students like to play feotball and
90 students like to play tennis. 32 students
like to play exnctly two games out of the three
EAnes,

8. How many students like to play sll the three
gaines ?
) 14
by 21
el 28
1 - 1+
9. How many students like to play exactly only
oo game ?
() 196
(k) 238
(el 264
idd 268
10, I aand (i« 0 are the roots of the quadratie
eguation x* 4 @x — p = 0, then the gusdratic
exprassion —%° +ax + | where x =R hos
{n) Least valos — %
)
ik} Lesstvalos = 5
ley  Greatest value ‘Ii
" G
idy Groatest valuo i
¥PL-5-BLU

12.

13,

{5=-A)

What is the coefficient of the middle term in
thie binemial expangion of (2 + 301 7

lal 6
ihy 12
e 108
idy 216

For a square matrix A, which of the following
propérties hold ?
1. irtsa

1

2 dettA™N)=
det A

4. (AT = LA~ where L is a scalar

Seleéct the correct answer using the codé given
below :

ind 1 andZ2only

ihi 2and3donly

{e) 1 and 3 only

id) 1, 2and3

Which one of the following factors

does the expansiom of the determinant
x ¥ 3

x%  By® 8 | contain T
7 1wt 27

a) x-3

by =-—¥%

&) ¥—3

d) =-1ayp



14,

15.

What is the adjoint of the matrix
— &itil= @}

i psl— i)

a
—sini— )  cosi— 0,

coaf  —sinBl
inl |

~gind  cosd)

‘cogfl  smA’
fh [ l
gintl  cosad

i)

ezl cEmi
L —ginf cosll

T o ¢ — Y
W |
[ Bt i (L

Whiat ia the valuse of

[—1+i1."§: " [=1-343 a0
g g v

where i= J-1 %

T

(i 2

el 1

fdi 0

¥PL-5-BLU

16,

17.

18,

{7T-A)

Thire are 17 cricket plavers, out of which
& players can bowl. In how many ways can @
toam of 11 plavers be selocted so us to include
3 bowlers ?

a) CU7 11
(b} ©{2,8)
(e} CI17,5) = CI(b,3)

(dl Cfh 3= CL12 8)

What is the value of log, 27 + logg 32 7

¥
(=) ]

19
h =
el 4
idy T

If A and B are two invertible square matrices
of same order, then what ia (AB) " equal to 7

@ Blad
(b} A'B
e} B1A
(d) AlB




19,

21,

YPL-S-BLU

If o+ h+c=0, then one of the solutions of
a—x C b

g b-%x a =0 is

[ 1] fa E—x
I:Hll E=0

R |I.'im2 T e |

¥ a
‘{E{ﬂ"! +h% 4%}
ich X
3
dy ==0

What should be the value of % s0 that the

2

matrix ] doea not have an inverse ¥

-8 X

el 18

by =186

e} B

d)y -8

The gyetem of equations
x+y—dx="5,

Sx -2y +2z=5 and
fx -3y —z=18

Lal
b}

g3

iB inconstatent
is congistent, with a unigue =olution

iz consistent, with infinitely many

aolukbions

id} has its eolution lying along x-amis in

three-dimensional space

24.

(B-A)

Which one of the following i correct in respect
of the cube rpots of unity 7

{a) Theyare collinear

(b) They lis onacirele of radins 3
ie} They form an equilateral triangle
{d) None of the above

If u, v and w (all positive) are the p™ o' and
B ferms of & GP, then the determinant of the

i ] 1
matrix | fn v q 1]ia
In w r 1
al 0O
b 1

el Ip-giig—r)ir—pl

(d)

I ouow fnwedn w

Let the coefficient of the middle term of the
hinomial expansion of {1 + %" be « und those
of teen middle terma of the binominl expansion
of {1 4 ¥ -1 be p and y. Which one of the
following relations i= corvect T

a) a=f+7y
(b} o<P+y
(e} oo oy
d) a=§y




25.

27.

Y¥PL-S-BLU

let A=(zxeBR:—1<x=l),
B=lye BR:-1<y<1]andS bethe
subset of A = B, defined by
S=lx.vieAxB:x* sy =1L

Which one of the following ia correct ?

ia)  Sis a one-one function from A into B

(b Bis g many-one function from A into B

ie] S isabijective mapping from A into B

{d) B is nota function

T.&tTrl:mT.h-}r*htarmufnnﬁPfur
r=1, 2 8 ... If for some distinet positive
integers m and n we have T, = I/n and
T, =1/m, then what is T__ equal to?

(a}  (mmy!
) mlsn?
e} 1

dl 0

Suppose f1x} iz such a quadratic expression

that it is positive for all real x.

If gix) = fix) + Pix} + £(x). then for any
risad X

(@) pgixi<O

by gix}=0

] pgxi=10

i) Exiz=0

28,

a0,

(11—-4A)

Consider the following in respect of matrices
A, B and C of same order :

1. (A+B+C=A"+B+C

2. (AB) = A'R'

3. (ABCY =C'B'A

where A’ is the transpose of the matrix A
Which of the above are correct 7

fa} 1 and 2only
b 2 and 3 only
{¢) 1and3only

Y 1.Z2and3

The sum of the binary numbers (11011},
(101101100, and (10011x0yv), i the binary
number (101101101);. What are the values of

xand y ?

ml x=lLy=1
by x=1y=0
o} x=0,y=1
id) =x=0,v=0

Liet matriz B be the adjoint of a square matrix
A, [ be the identity matrix of same order as A
If k (=0 is the determinant of the matrix A,

then what is AB equal to
ta) o

b

(el kY

() (1



81. If (2 =2 nnd log,, 2= 3010, then what

ig the value of ¥ to the nearest tenth 7

fa} =10
bh  —-0b
(e} =0l
idi -2

32, The total number of 5-digit numbers that can
be composed of distinet digits from 0 {0 9 is
ial 40360
(b 30240
(e 27218
di 16120
48, What is the determinant of the matrix
¥ §F Feou
g X Edxld
y = %X+¥
(Al (A—=¥liy=2lz—-x)
(b} x—-wiiy—ul
ey (y-zlz—-x
(d) (2= {x+y+2)
YPL-S-BLU

34.

as.

(13-4

If A. B and C are the angles of a triangle and
1 i | 1
1=aind 1egint
ein C+uin® C

= {},

1+sinB
snAcpn®A  winB +n'm£! B
then which one of the following is correct ¥

(g} The triangle ABC is isosceles

(b} The triangle ABC is equilateral
e} The triangle ABC is scalene
(dy Mo conclusion can be drawn with regard

to the nature of the triangle

Consider the following in respect of mairices A
pnd B of same order !
L. A*_B'=(A+BIA-B)

2 (A-DI+AI=0e=Ar=1

where 1 iz the identity matriz and © is the
null matrizx.

Which of the shove isfare carrect 7

(a) 1 onky

b} Zonly

ted Both 1and2

id} Neither 1 nor2

Whatis — 220 equal ta ?
1+tan® @

ta} coa 28

(h) tan 28

(¢l sin 20

id) ecosec2B




a7.

I['set:fﬂ—u],mﬂanﬂmiﬂ+ujar«ainﬁ1’,
where oos o = 1, then what is the value of

gin 0+ cosa ?

@l 0
i 1
(e} =1
Hy E
2

38. If A+B+C=18, then whatis
gin 2A — sin 2B —sin 2C equalto 7
ia) —4sinAsinBsinC
(bl —4 cos A sin B ooos ©
g} —4dcosAcosBaRinC
idl —-d4snAcosBeosC

39, A balloon is divectly above one end of o bridge.
The angle of depression of the other end of the
bridge from the balloon is 48°. If the height of
the balloon above the bridge is 122 m, then
whit ia the Iength of the bridge ¥
fa) 122 gin 48" m
by 122 tan42° m
{e)d 122 pos48% m
id) 122 tan48°m

YPL-S-BLU

40,

41.

[15-A)

A is an angle in the fourth quadrant. It
ratisfies the triginometric
3¢9 — tan® A - cot A)® = 1. Which one of the

equation

following iz a value of AT

tn} 300"
ib) 3157
ey 330°
id) 345

The top of a hill ohserved from the top and
bottom of a building of height b is at angles of

elevation -E and % respectively. What is the
height of the hill ?
1 . Zh
411 E
2
0 h
h
d s
e a
What islare the sclutionls) of the

trigenometric equation  cosec X + cot x = V3,

where 0 <% < 237

; o
(al g only
By = only
3
(e} monly
7 ST . L
3 3



43. If B= g"' then what ia the value of
(% cos B+ 101002 cos 20 — 111%(2 cos B — 10
{2 cos 40 — 1310 7
{a] 0
(b} 1
ey 2
d) 4
44, Ifcos o and cos 10 < < P < 7l are the roota
of the guadratic eguation 4x* — 3 = 0, then
what iz the value af ssc a < secp 7
4
)l = 5
4
By
{1y 3
3
y =
(e 3
3
iy - -;
48. Consider the following values of x :
1 E
2 — i
1
3§
1
SR
Which of the above values of x igfare the
solutionts} of the equation
tan-! (2x) 4 tan~t (3 = -E ?
{a) Sonly
ib) 2and 3 only
(] 1landdonly
idy 4only
YPL-5-BLU

46.

47,

(17T —-A)

If the second term of & GF is 2 and the sum of
its infinite terms iz 8, then the GP is

fa) 8,2 %, %.
B 10,2, %. 225,_
e 4.2.1,%.2—12.
(&) 5.3.%,%.
[f a, b, & are in AP or GP or HF, then ::::2 is
equal to
fal Et'.u']n:u'E

e
b &nr%-nr]
o) lnr%nr%
(d lur-Ean

What is the sum of all three-digit numbers
that ean be formed using all the digits 3, 4 and
B, when repetition of digits is nof allowed ?

fa) 2664
(b) 3882
(el 4044
idi 4444



The

ax? + hx + ¢ =0 and px* + gx + v = 0 are equal,
I !.'l] and Dy are rospective discriminaats,

ratin of roots of the eéquations

then what is %Lﬂqu.ulbu?
]

B
1.3-] p—a
2
T
q
7
e
el —
o2
{d)  MNone of the above
§0. If A =sin®0 4+ cos’ B, then for all real 8,
which one of the following is correct ?
fa) 1=A=2
4
b} —=A=xl
4
13
. A |
AT
a 13
O ool R Wi
id - zAs e
51. The equation of o circle whose end points of a
diameter are {x,, ¥, and (2, ¥,) i
ial [x-nr.lhtx—x.l]+[_5'-3‘,J{1r—3r21-32+3'2
(b (x=x)%+ (r—y P =gy,
fey x4 v? s dmex, + 2y ¥y =0
i} L:r—:-:,i{:p—x.;'l*I}l—y.,hl:.r—;.t:ﬁ]:u
¥PL-5-BLU

G2,

(19=A)

The seennd degres equation
xt 4 dyt —2x —dy + 2=0 represents

(g} A point

ih)  An ellipse of semi-major nxis 1

te)  An ellipse with eccentricity %

idi  MNone of the above

The angle betwean the

fx +my +n=0 and

two  lines

Fx +m'y +a'=0 13
given by tan™' 8, What is 0 equal to ?

Fﬁ.’— I'm
if' — mm’

ial

Im™ +I'm
I+ mm'

ih

(e} |£m‘— I'm

fm"+ I'm
W= mm'

id}




¥YPL-5-BLU

54. Conzider the following statements

the lines
|ey =25 _

v1+m*

b The distanes  hetween

y=mx4 ¢, and y=mx +c,is

2 The distance between the lines

H:+h3+:1=ﬂun:|nx+h}r+:3=ﬂiﬁ

ey — g

uia“ +b7

3. The distance between the lines x = ¢
and x = cyis | gy -y,

Which of the above statements are correct 7

(al 1and?2only
tby 2and 3 only
te} 1 and 3 only
idy 1,2%2and3d

What is the equation of straight line passing
through the point of intersection of the lines

L Y+ ot and lel to
+3 1:111:|;|::I3+2 ; paral

thes line dx + Dy —G=0 7

ia) 20x+ 25y -54=0
by 25x+20y—-04=10
() 4dx+5y-54=0
id) dx+0y—-45=0

L.

7.

(21-A)

What is the distance of the point (2, 3, 4) from
the plane 3x -6y + 22+ 11 =07

(o) 1 umit

i) 2 units
el 3 unit=s
idl 4 units

Coordinates of the peints (0, P, Q and R are
respectively (0, 0, 0), (4, B, 2m), (2, 0, 2n) and
(2, 4, 6). Let L, M, N and K be points on the
sides OR, OP, PG and QR respectively such
that LMNK is a parnllelogram whose two
adjacent sides LK and LM are each of length
V2, What mre the values of m and n

respectively 7

(ad & 2

bl 1,3

ey 2.1

{d] Nane of the above

The line 1_5__:_1 = 3'3_2 = =3 15 given by

] x+y+umb x+Ay—Jz=-4

(b} x+2y—2pe=—_1 dx+dy—Hz—3=0
{g) Sx+2y—3z=0, Ix-By+3z=-1
(d} Sx+2y-Jn=—2, dx-6y+3z=0



59. Consider the following statements © 61. What ig the avea of the trinngle with vertices
i. The angle batween the planes Itul} Ia._-.i]1 Ia.‘:l“J »
. T X ; RE 3
Ox—y+za londx+y+2i=3dis E
il (M, =M, — X ) (X — %)
2. The distonde between the jHanes | =g Ry =Ty PRy !
Bx—dy +62+2=0 and by 0
-y + 24 d=10is %’ ted (x) —Xgphixg —xg}ixg —%K)
z XXgxy
Which of the above statements Isfare
t"li'.!l"'l.'lﬁﬂ oy (e [:;] — :E:':IL'ILE — 13}{11; - X d
() 1 only Zx xaxyg
ih)  2only
{ed Bothland?2
(d) Meither1nor3 82. If y-axis touches the circle
%t 4 y- 4+ px + Iy + £ — 0, then the normal at
80, Consider the following statements 1 it ;T ;
this point intersects the cirele ot the point
Staterment I: I the line segment joining the r = £
points Pim, n) and Qir, & L [_E'_E}
subtends an angle o at - [
gL (b} l -
the Origin, then 2]
s ms — fr
.,III{mi-l- nE'I{rE-i-E'E-'I [ [—%.r]
Staterent 11 : In any triangle ABC, it is trus tdy [~g—f)
that a? = b* 4 ¢ - 2be cos A
Which one of the following is correct in respect
ol the ahove two statements 7 =
' 83. Let [& |=0,|T | =0
iny HBoth Statoment [ and Statemeont 11 are
true nnd Statement 11 is the correct (m+Bi.(d+ W= | a %4 | b |2
explanation of Statement, | holds if and only if
{hi Both Statement | and Statement I are = :
true, but Statement I iz not the eorrect @) & and ¥ are perpendicular
explanation of Statemant -
iy & and B are parallel
e} Statement 12 troe, but Statement 11 is
false ¢y ® and B are inclined at an angle of 45¢
¥PL-S-BLU (23-A)
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& A # -

I ? = =x1 + yj] + zk, then what is
W i )

?,F'i+j+k'lr.'qu31tﬂ?

al =

thy x+w

e —ilm+y+um
dl (R+y+m

A unit vector perpendicular to each of the
A P
vectois ] — j-+ k snd-81 -4 %'

faul L?+—1="—lﬁ
J3© T 3
b %:+£;di—ﬁ
(e iig’ih;% _%i
td) ?1.;?4‘:!%3*%&

s

W |a|=3 |b|=4and|a —b | =5,
e |

then what isthe valueof |8 + b |7

ia) 8
ihi @
(e} &2
idi o

a67.

(25-A)

Let' . B and & be three mutually

perpendicular vectors each of unit magnitude.

N —
if;=?+f+¢+.ﬁ=?—?+?md
@ =& -8 = ¢, then which one of the
tollowing is correct 7

" —y

@ [Als|B|=18]
—h

gy JA S B [#]a |
ﬁ. -

@ |A|=|B|=|C]

@ |A|#IE|2|C|

‘Im-mtis{? —E'h:[;' . ? ) egual to !

@d 0

(bl _:T l':l_;

el i{? * F]-
7 Ol e i b

A spaeecraft located st (g 2_'} + Hi is
subjected to a force F'l.-i by firing a rocket. The
spacecraft 18 subjected to a moment of
magnitaudi

fal A

(b} B A

e} BA

(d} None of the above



70. In & triangle ABC, if taken in order, consider
the following statements |
T
1. AB+BO+CA=T
- —
2 AB+BC-CA=0
=4 = — —n
3 AB-BE+CA=0
— —F = —*
4 BA —BC +CA =0
How many of the sbove statements are
correct ¥
i} Ome
thi Twa
{ey  Thres
id} Four
71. Let the slope of the curve y = cos~ {gin x) be
tan &, Then the value of B in the interval (0, T
is
w"
.l s
) B
) 25
i
n
ich -
F
=
2
f% 1 .
2. HRo=Y 5 defines a fanction on R, then
what ia ite domzain ?
(a) (—en, 4) L {4, =)
(by (4, ==
ey 11,40 W id, ==
idd (1,40 (4, )
YPL-5-BLL

Td.

6.

(2r—A)

Conzider the funetion
Bin 2x if xowll
flx) =
2 ;
s il ¥=0
15

Which one of the following is correct in respect
of the function ?

fa)  Itisnot continuous atx =10
(bt Itiscontinuons at every x
e} Itis not continueos at x =
(dy Itis continuous at x = 0

For the function fix) = |x - 3|, which one of
the following is reof correct 7

inl The function is not contimuous at £ = = 3
(b}  The function is continuous at x = 3

{e}  The function is differentiable at x = 0
id) The function is differentiable st x = - 3

e |
fix) = D -sm x

2y +tan ' x

If the function

continuons at each point in its domain, then
what is the value of 10 ?

1
P
[ 5
1
i
] 3
9
@ =
S
dy 2



76. If fxd=y25—x®, then what s
Ijmr[“l]_fﬂjequaltn?
x-=1 £=1
1
Wy =
J24
il -
134
1
(e} ——
i _.i_‘iFEl
I
id]
4\1‘5
1 [6-2tanx dy
™. If = tan~} then what 2 —
y {2+Ehm;:]r dx
equal to?
1
)y, =
2Jx
thl 1
ey =1
1
{d)
25:&
78. Which one of the following is correct in
respect.of the function
fix) = x sin % + COB X + % cos x 7
fm} It is increasing in the interval [U, %1
4
(b} It remains constant in the interval
5
®
0=
©3)
icd  ltis decreasing in the interval [ﬂ,g)
(d} Tt is decreasing in the interval [EE]
YPL-S-BLU

7.

B,

Bl.

(29-A)

What s lim Sl P
(a) 2

(b) 242

{e) jl-j

) —2—}5

A function : A —+ R is defined by the squation
flx) =%  — dx + 5 whare A = (1, £). What is the
range of the function 7

tal (2,5

(b} (1,5)

(e} [1,5}

{dy |[1,5]
b b

What is j't:]dxi-jl—:]dx equal to,
B &

where |.] is the greatest integer function ?

in} b-a
(k) a-b
ey 0

(d} 20(b—a)




8
B2 What is J |x—56|dx egualta? 85. What is I{i(tﬂn—ll
] -1 '

tetp 2 tal 0
(b 3 1t
by ——
d
(o}
T
idi o {e) g
i
(d) 7

B3, What iz Isin“x:m::d:: equal to ?

B6. In which one of the following intervals is the

i
funetion flx) = x” - 5x + 6 deereazing ¥

gl o8 X+

by sintx+e () (==, 2
(1 =sin® x)* by [3,=)
() S
4
{eh (= ==, ==

L "
i1- eaEs x|

id) - d) (2,3)
4

where € 18 Lhe sonstant of integration.
87. The differential equation of the fEmily of

' curves ¥ = p oos (ax) + g sin (ax), where p, q
} . are arhitriry constants, is
B4. Whatis J- piMtEn®l gy pgunl to 7

(a) EL"% —aty =0
fa)  In |tanx | +¢ dx
Bl In |seex| +e (B g - gy =10
dx
{eh tan X+t
d-ﬂ
Al W (el E{-ug.n
. . : 2
where ¢ is the constant ufml:sr_grutinn. (d) :‘;}{{r x a.ijf -0

YPL-5-8LU (31-A)




BR. The eguativn of the cfarve pazsing
through the point -1, — 2} which satisfies
% == :’—3. i
(w) 17—+ 30 -2 =10
(b) By 17" + 2x" -3 =0
6 Gxy—2% + 172 +3=0
{d) 175y 4 By —-8x"+5=0
B9. What i the order of the differential
equation whase salution is
y=aocosx+ beinx+ce™ + d where a, b, ¢
and d are arbitrary constants 7
fa)y 1
thy 2
e} 3
idl 4
90, What iz the esslution of the differential
equation {n [—jrx}-r-] =ax + by ?
(gl ae“-r—heb""=t'.
(b} %E” - % P
2] aa'n+be_hr=|:
il lE“-]-i-ﬂ_b}I:E
B b
where ¢ i5'an arbitrary eonstant.
YPL-3-BLU

al.

[(33-A)

If o=¢" ginbx and v =&"" cogbx, then
du dv

what is HE + \ra equal to ?
(a) ae®®

by {a° +b%)e™

o) abe™*

{di  fa+bre™

If ¥ = gin UUn x), then which one of the
following is correct ¥

(a} $+y=ﬂ

(ki % =0

[k :-:2-;1:-;%- +J:§E + % m )
td) iﬁ%} -x% +y=0

A flower-bed in the form of 8 sector has been
fenced by & wire of 40m lemgth. If the
flower-bed haos the groatest possible area, then
what ia the radius of the sector 7

(g} 25m
(b} 20m
e} 1m
(dl &Hm



1

04,  What is the minimom valuauf[x[x—l}+1]§,
where 0<x=17%
L
3 Ya
FY |U‘J
thy 1
() l
1
318
fdl [—
5)
a8, h"}':Isinxlm.t.henwhntiumevaluaufj—:"-
X
K
tX == T
At X = 2
- 3}
y 2 %6in2 ﬁﬂ
&
&
b 2 (6 I 2+ 30
G
A
- a 6@ in 24+ 20
i
L
L] -
@ 2062 V37
G
d./1 - sin 2
96, wm:m% al to, where
o
— g =
4
fal eosx+2inx
(b} = (pos x + Bin X}
(e & {coax+ginx)
idl Noneof the above
YPL-5-BLU

(35-A)

. dx
What i ogquzl to 7
_[ uiainix+hﬁeﬁsﬂx
1 _1(H.|:.‘EI.I:I.I
(a) —1
i | E'i'ﬂh arn b J

b} —imn‘l[—b t‘““’]
ah n

el c+ Lt&n_](hﬂij
ah a

id) None of the above

where ¢ is the eonstant of integration.

Lot flx + y) = flxMiy} and flx) = 1 + xpixipix),
where Ii_u;angt:ﬂ:u and l‘ﬂﬁxhh. Then
b X

what s £'(x) equal to ?
{a) 1+ abflx)

b} 1+ahb

(¢} ab

fd) -abflx)

What is the solution of the differential

. dx mz+v+l
tign = =23 %=
&q“mdy x+y=1

) yv=x+4lnix+¥l=c
b)Y wv+x+2inx+v)i=¢
&) y—x+inix+yl=¢

dl y+x+2mix+yi=e

where ¢ is an arbitrary consiant.




b

100. What is fim Ef‘"‘__ﬁ AAB A1 equal
!__,;_ 2sin” x—dsinx+1
to T
1
(A} ==
2
1
3 =
3
g =2
dy =3
101. If two dice are thrown and at least one of the
dice shows §5, then the probability that the
sum is 10 or more ia
1
LF -
&
&
(bl —
11
3
fed ﬁ
) =
1
102. The correlation coefficient computed from a
set of 30 obgervations is 0B Then the
percentage of variation not explained by linear
TOETESSE0N 18
(a)  BO%
{b) 20%
g) 64%
dy 36%
YPL-5-BLU

106,

104

1665,

(37 =A)

The average age of & combined group of men
and women ig 25 veare. If the average age of
the group of men is 26 years and that of the
group of woemen 15 21  years, then the
percentage of men and women in the group 18
respectively

i) 2, BOD
{b) 40,60
fed 60,40
{dl BO,20

IT gin f is the harmonic mean of sin & and
cos o, and gin # is the arithmetic mean of sin o
and eos o, then which of the following isfare

correct
1. ﬁuh[mi]ﬁnﬂaﬁnm
2 J2 ging =mﬂ[u - E)

Solect the torrect answer using the code given
helow

{fa) 1only

(b} Zonly

ie} Both land 2

id] Neither 1 nor 2

Lei A, B and C be three mutuaily exclusive

and  exhaustive ovents azssociated with a
random éxperiment. If P(B) = 1-6 ™A) and
PO = 06 PiB); then PiA) is equal ta

(a} %
ib) 1'%
iel %
(d %



104,

107.

In o bolt factory, machines X, Y, Z
manulactore bolta that are respectively 25%,
5% and 40% of the factory's total output, The
machines X, Y, Z respectively produce 2%, 4%
and 5% defective bolis. A bolt s drawn at
ratidom from the prodoct and 15 found to be
defective, What is the probability that it was
manufactured by machine X 7

(al

(]

20

el
R T

34

()
39

Boocoins  are

bossed simoltanesously, The
probability of getting at least 6 heads is

(al ﬂj&
ik El
9 355
{d} ‘EEE-E
YPL-5-BLU

108. Three groups of children contain 3 girle and

108,

(38-A)

1 boy: 2 girls and 2 boys: 1 girl and 3 boys.
One child is selectéd ol random from each
group. The probability that the three selectod
eonsist of 1 girl and 2 hoys is

(#) %
(b) %
{ed %
() H‘g

Conzider the following statements ;

L, If 10 iz added to each entry on a lst,
then the average increages by 10,

2. If 10 is added to each entry on a list,
then the standsrd deviation increazes by
1

If each entry on a list iz doubled, then
the average doubles.

YWhich of the above statements are correct

fnd 1,2and3

(b1 1 and 2 only
fed  1and 3 only
(d)  Zand 3 only



110,

111.

11%

YPL-3-BLU

The variance of 25 oheservations is 4. If 2 18
added (o each observation, then the new
varinnee of the resulling observations is

{al 2
b 4
tey 6B
d} 8

Ifx>0,¥>00=1,273, .. 0)are the values
of two varinbles X and Y with goometric

means P oand @ respectively, then the

grometric mean of % iz

P
ta) —
L3

(b}  snkileg {%]

ek nilog P—log Q)

idi nilogP +log Q)

If the probability of stmultaneous occurrence
of two events A and B is p and the probability
that exactly one of A, B dceurs is q. then which
of the following i8'are correct ?

1. FIE|+F|_I3|::2—E:|:|—q
2 PANBl=1-p=-q

Select the correct answer using the code given
below

fal 1only
ihi
i)
id)

2 only
Both 1 and 2
MNefther 1 nor 2

113.

114,

1165.

(41-A)

I tho regression coefficient of Y on X iz — 6,
and the correlation coefficient between X and

¥ is - % then the regression coeffcient of X

on Y would be
a) %

® -
e} = é

{d) %

The set of bivariale observations (x;, ¥,
X9, ¥okh oo (2, ¥5) ore such that all the values
are diztinct and all the observations fall on o
straight line with non-zero slope. Then the
pussible values of the correlation coefficient

between ¥ and v are
(nl Dand]lonly
ik} Dand-1aonly
el 0,1 and-1
id} —1and 1only

Two integers x and v are chesen with
replacement from the set 10, 1, 2, ..., 10). The
probability that |x—v | =5 s

fm) lil

»
L) %
d) 122—51




118. An analysiz of menthly wages paid o the

117.

YPL-3-BLU

workers in two firms A and B belonging to the
same industry gives the following result :

FirmA | Firm B
Number of workers Gl 600
E;ﬁf monthly <1860 | <1760
:iﬂ:umﬂgﬁ of wages Bt i

The average af monthly wage and variance of
distribartion of wapges of sll the workers in the
firms A and B taken together are

fay T 1860, 100

Chi 51750, 100
(el & 1800, Bl
idi Mone of the nbhove

Three dice having dipits 1, 2, 3, 4, 5 and 6 on
their fnees are marked L, 11 and 111 and rolled.
Let x, y and 2 represent the numbear on die-I,
die-Il1 and die-I1l1 respectively,. What is the
number of possible oulcomes such that

g>y>x?
fal 14
th) 16
{c) 18

(dy 20

118,

1159

(43—-A)

Which ane of the following cun be obtained
from an ogive 7

(al Mean

ih)  Median

fed  Geometric mean
idi Mode

In any diserete series (when all values are not
same), If ¥ represents mean deviation about
mean and ¥y represents standard deviation,
then which one of the following is correct 7

m y=x
thY wv=x
g Hmy
idl x=<y¥

In which one of the following cases would you
expect to get o negative correlation 7

la)  The ages of hushands and wives

(b} Shoe gize and intellipence

lg) Insuranes companies’ profite and the
number of claims they have to pay

td) - Amount of rainfall and yield of crop
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